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abstract class Prototype === B
{
abstract public Prototype clone(); [1ZEHME clone() - 54 HME
}
class ConcretePrototype extends Prototype //ZArZEfA At
{
private int x = 100; [[EB(AEEE)
public ConcretePrototype(){ System.out.printin("&3 : " + x); } //A44Z}t
public ConcretePrototype(ConcretePrototype p){ ++x } [[BASIHM 2t 1 &7+

public Prototype clone(){ return new ConcretePrototype(this); } //ZHZ|| ZtAl E3|

}

public class Client

{
public static void main(String args[])
{
Prototype p1 = new ConcretePrototype(); //newZ O|8510] ZHH| p12 AN
Prototype p2 = p1l.clone(); /78| p2= p1E SAl(newE AFESHA| %)
}



/] BHIS 7S NGB %S

abstract class Prototype

{

abstract public Prototype clone()
abstract public int get();

class ConcretePrototype extends Prototype

{
private int x = 100;
public ConcretePrototype(){ }

public ConcretePrototype(ConcretePrototype p){ ++x }
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public Prototype clone(){ return new ConcretePrototype(this); } //7ZHZ| R4l £

public int get(){ return x; }

public class Client

{

public static void main(String args[])

{

Prototype p1 = new ConcretePrototype()

Prototype p2 = p1l.clone();
System.out.printin(p1.get());
System.out.printin(p2.get())

/Inews O| 85t | p1E 4

/1787 p2= p12 SAl(newE AFESHR| 942)
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